N of simulated tracks vs hit_]

[N of associated tracks (simToReco) vs hit |

1%} n
2 o
2 =
5 g
=) S 10°
= 7]
Q =
S [=]
= 3
14
§=] 8
T : T
4 : 14
{‘0 10 20 30 40 50 60 70 80
TP hits
— é M ?r{éné\m—%%g\ﬂ ECTOT_TUUUEVT
= panteaCiiter
| N of sin] —— DOM™ f:[ CpeOK_SORTRZZ_fESTegtLJTLIER 1000evt
[%] F n
Q@ F a
S I =
E 10'F 3
e F 210
g 10%k- ; 2
8 10°E” : S
= E :
i ; 2
e R A
1) S
R ST S
ie] e : ¥ Ke)
0.5F====" . ]
: : : E + i
e : : _I_ 1
Q) 5 10 15 20 25 6 8 10 12 14 16 18 20 22 24
TP layers TP layers

[N of simulated tracks vs pixel layer ]

10°

TrackingParticles

N of associated tracks (simToReco) vs pixel layer |

Reconstructed TPs

Ratio

0 1 2 3 4 5 6 7

TP pixel layers

[ N of simulated tracks vs 3D layer |

TrackingParticles

Ratio

0O 1 2 3 4 5 6

8

TP pixel layers

N of associated tracks (simToReco) vs 3D layer |

Reconstructed TPs

Ratio

© 24 6 & 10 12z 14 16 18 20
TP 3D layers

6 8 10 12 14 16

18 20

TP 3D layers



	Contents
	Page 1


